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Minute 22

1. Write the fraction of the shaded area.

shaded parts

total parts

Name: ... Date: ...

4. Arectangle has........... anglesand........... sides.
5 65
-22
6. Tmetre=......... centimetres
7. $10.00-$550=..........
8. llitre=........ millilitfres
9. 4x7=....
10. 26
+ 21
\_ J
My score: My time:
L minutes seconds )
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Multiplying Two-Digit Numbers by
One-Digit Numbers

1 24 2 22 3. 18 4 26
x 4 x 5 x 5 x 3

5 12 6 48 7 41 8 31
x 5 x 2 x O x /

9 44 10 32 11. 62 12 66
x 7/ x 7 x 3 x 4

13. 82 14, 87 15. 94 16. 53
x 4 x 8 x 8 x 8

17. 85 18. 75 19. 68  20. 78
x 4 x 3 x 6 x 7

W rwinkd couk



g WO PUIM} USIA

JOMSUD 3Y3 33D)NI|DI PUD S1Y3 MOYS 03 20UdIUIS JaqUINU D aHIMN

¢1a1 aup hupw Mo "uajo3s aup £ 7
“paq Jamoyf » u1 sdiny GET aup aday

8 U013225

‘'sadpys asayy
u1 sa1bup b1 ay3 moug

9 u01323§

$9GG U1 242y} 24D S3Ud0 aAl Aupw moH

0€'T$ U1 2433 24D S1Uad Ua) Aupw MoH

£03 bunuiod mouup ay3 s1 JuUaWaINSDIW IDYAN

# U01393S

L u01322§
4 - 0 9 4 -
Y 8 L Vi

:SU013D]N2IDI 3say3 a32]dwo)

S U01392S

¢Aopol upy3 Avpaasah unua ays pip Jayinf yonw moy
‘wy £'T unJ ays Aopoy
‘Aopaslsaf wiy 4z upa Wiy

€ Uo1I3S

—9XQT +¥ X7 =g8T Jo £

uo?&%

[ e
L

Z u01303S T u01323s

W Ananoy syiop 4 anap



Word Search

8 Times Tables

Answer the calculations below and find the answers in the

word search:

8x5= 8x3=

8x9-= 8x6=

8x2-= 8x7-=

t w e n t y f o u r
h W X i s y t f L f
g t e e d b g n o i
i y e n e s h r h f
e t e e t y t e i t
y r L r t y y e r y
t i y t r 0 f t t s
r h e w u 0 u 0 y i
0 w t y t n e v e S
f s i X t e e n n r
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[ ]
Minute 38
Name: ... Date: ...
1. Circle the name of the shape. <:>
pentagon  hexagon octagon
2. ldollar=..... cents
3. What does decade mean? ... years
4. 8x8=... 5cm
5. What is the perimeter of the shape?2 ... cm 3cm 3cm
6. 42+6=...... 5>cm
7. 21+7=....
8. 57
+ 42
9. 84
- 49
10. Mary plants 4 rows with 5 sunflowers in each row.
How many sunflowers does she plantinalle ... sunflowers
\ y,
My score: My time:
L ‘I 0 minutes seconds )
Mafhs mi - _ions.com.au  RIC. Publications®
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PERIMETER Puzzles {

(Name:

1

Working Out:

Perimeter:

wdt

Calculate and record the perimeter of each shape below:

; 2 ’
: F

yee

6cm

: Working Out:

: Perimeter:

Working Out:

Perimeter:

9cm

Working Out:

: Perimeter:

Working Out:

Perimeter:

4m [

= N4m

Working Out:

: Perimeter:

=
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Minute 25

1. Circle the name of the solid shape.

sphere cube cylinder pyramid

7. 4x6=24 Which number is the product? ...
8. 8x5=40 Which numbers are the factorse ...
9. Ahexagonhas....... sides.

10. Halve 50. ............

Name: ... Date: ...

7~ \

My score: My time:

minutes

L

seconds

Jo.
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Space-Themed Mixed Times Table Mosaic

Solve the calculations to reveal a hidden picture. Each answer has a special colour.

brown =
120 - 144

light grey =
61-99

yellow =

black = green =
100 - 119

1-12 13-25

blue = red =
26 - 40 41 - 60

9x12 | 16 +8 | 12+3 | 16 +8 | 12+3 | 24+8 [10x 10| 35+5 | 48 + 8

84 +7 | 32+8 | 15+3 | 12 x 3 8 x 4 35+7 | 63 +9 | 24+3 |27 +3

25+5 | 72+9 | 5x4 8 x4 4 x7 5x5 3x4 | 56+8 |11 x10

32+8 | 497 | Tx4 9 x2 4x9 |11 x3 | 3x3 | 36+3 |110+11

36 +6 | 42+6 | 3x7 | 3x11| 2x8 4x8 | 20+4 | 12x9 | 96 + 8

11+11| 20+4 | 1x7 4 x9 6 x 4 7x1 | 40+

I
(00]
w

X
w
N

X
Ny

36 +3|10x11| 3x2 | 40+4 | 21+3 | 32+4 (12%x12| 7x7 8 x7

96 =

|
(0]

80+8 | 18+3 | 72+8 | 30+3 | 56=+8 |11 x11| 12x4 | Tx6

1x7 |12x7 | 8x8 | 6x12 | 10x7 | 7x9 |12x11| 8x11 | 35+7

9x7 | 7x11 | 8x9 | 12x6 | 9x9 | 11x9 | 7x12 | 6 x11 | 8 x 12

Challenge: Are these calculations true or false? Explain your reasoning.
5x8<12 x4
72 +9>56 +7

w visit twinkl.com W
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the input and output of your tests. See if you can solve the rule for each of these batches.

Foncerous Predicamentaf the Predicake

Pattern Machine

In an abandoned factory near your school, you find a really cool machine. When you type a number into a
keypad, it will display a different number on its screen. The number that comes up seems to be related to
some sort of rule, and with enough of them, you begin to see a pattern. Below are some charts that show

%

fe

e

fe

5.
—If [
1 3 HU[E 4 6
2 6 12 14
3 9 6 8
4 12 51 53
5 15 20 22
6.
A Il
8 8 HU[E 50 10
22 22 35 7
45 45 25 5
61 61 10 2
87 87 40 8
7.
Tl Il
1 5 HU[E 16 4
2 10 20 5
3 15 32 8
4 20 40 10
5 25 a8 12
8.
N Il
4 36 RU[E 2 16
6 54 3 24
9 81 5 40
10 90 6 48
12 108 8 64

fie

TeockXCY







Minute 28

1. Circle the name of the shape. pentagon hexagon

@

. 1dollar=........ cents

2
3. lcenfimefre= ... millimetres
4
5

. The perimeter of the shape is 9.

A

3

Circle: True or False

Use the bar graph to complete Questions 8 to 10.

Name: ... Date: ... ..

Favourite snack food

octagon

8. Which snack is the 10
9
least populare ... 8
9. Which snack is the 7
6
most populare ... 5
10. Which two snacks are liked 4
equallye 3
2
................................................ ]
0
L Popcorn  Chips Fruit Cheese
My score: My time:
L minutes seconds )
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Ultimate Division Challenge

Name: Number Correct: ,‘:/{1

Time Taken: Previous Score:
22+11= 33:11= 40+5= 27+3= 99+11= 25+5=
28+7= 16+8= 121+11= 48+4= 63+7= 8+2=
18+6= 12+6= 72+8= 99:9= 60+12= 18+2=
56+8= 8+1= 77+11= 28+4= 54+6= 24+6=
3+1= 55+5= 60+10= 45+5= 25+5= 18+6=
32+8= 36+4= 70+7= 40+5= 9+9= 18+9=
60+5= 24+8= 18+2= 22+2= 88+8= 40+5=
8+8= 96+8= 20+2= 132+12= 40+8= 12+4=
2+2= 48+8= 72+8= 110+11= 84+7= 20+5=
24+3= 77+7= 8+4= 48+12= 30+5= 84+12=
21+7= Q+1= 33+3= 27+3= 60+5= 48+8=
84+12= 35+5= 12+12= 25+5= 49+7= 12+1=
35+7= 120+12= 81+9= 80+10= 32+8= 10+2=
48+4= 66+11= 88+8= 8+4= 54+9= 35+5=
24+8= 72+12= 10+1= 88+8= 60+5= 54+6=
40+10= 16+2= 45+9= 7+1= 48+6= 21+7=
56+8= 88+11= 108+9= 32+8= 10+2= 54+9=
36+12= 11+11= 56+8= 20+5= 88+11= 5+1=
5+5= 88+8= 88+11= 5+1= 16+2= 48+12=
3+3= 81+9= 12+2= 120+12= 77+7= 110+10=
18+9= 8+8= 70+7= 4+2= 24+2= 28+7=
24+3= 45+5= 30+10= 5+5= 8+2= 12+6=
10+2= 42+7= 8+4= 18+6= 72+6= 24+8=
66+11= 56+7= 24+4= 12+1= Q+3= 45+9=

twinkl.co.uk
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_Addition and Subtraction Checkup |
423 638 921 562 217
+ 3 +21 £ 13 + 134 + 820K

64] 197 392 805 695 K

+ 48 + 35 + 209 + /69 + 406¢

366 869 598 126 369
- 42 - 104 - 248

423 306 126 993 809
-8 -23 - 48 - 269 - 0694

Try these challenge questions

28.3 393 09.8 1218
+ 46 + 082 - 63 - 58

)
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Minute 78

1. 3383

2. Thisis aright angle.

Circle: True or False

3 53

X3
4. Clare pays é0c for 12 dice. How much did each dice cost? ... C
5. Whatis the perimeter of the shape? .......... units

6. Write the next two numbers in the pattern.

15,13, 11, i
7. 3000 +400+80+2=......

Use the bar graph to complete Questions 8 to 10.

8. Which type of party was most 3 Favourite type of party
PoPUIAr oo /
6
9. How many people preferred a 5
pool partye ... people 4
3
10. How many more people preferred 9
a pizza party to a movie party? 1
| . I
L more peopie Game Pool Movie Pizza )
My score: My time:

L ‘I 0 minutes seconds )

’
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Problem Solving
Tic-Tac-Toe K

I can solve problems involving division
by a one-digit number where there are
remainders.

LS |

424 visitors need to ride
the lift to the top of Telstra
tower. Each elevator can fit

9 people. How many trips
will it take to get everyone
to the top?

Maddie is making cupcakes.
She has 157 sugar flowers
to decorate the tops of her

cakes. She wants to put
8 flowers on each one.
How many cupcakes can
she decorate?

A school has budgeted $598
to purchase new white
paper reams. If each ream
costs $6, how many can the
school afford to purchase?

There is a crowd of 381
people all wanting to eat
at a new cafe. If each table
holds 6 people, how many
tables will the restaurant
need to seat the crowd?

Jake has saved $782 to
spend on figurines. If each
figurine costs $7, how many
can he afford to buy?

An ice cream shop has
803 litres of ice cream in
stock. How many 5 litre
tubs of ice cream can the

shop produce?

Rosie’s egg farm has
produced 722 eggs. How
many half dozen cartons

can she fill?

Harry and his friends want
to buy popcorn at the
movies. They have $176

and each popcorn tub costs
$7. How many tubs can

they afford?

A party organiser needs
932 glasses of fresh orange
juice. If each bottle of
orange juice fills 8 glasses,
how many bottles will the
organiser need to buy?

visit twinkl.com.au




Number

Words

Expanded Form

thousands
hundreds
tens

ones

1000 +500 + 90 + 7

2 thousands
5 hundreds
7 tens

3 ones

1574

thousands
hundreds
tens

ones

2635

thousands
hundreds
tens

ones

7354

thousands
hundreds
tens

ones

thousands
hundreds
tens

ones

2000 + 600 + 40 + 3

5 thousands
5 hundreds
5 tens

5 ones

Page 3 of 15
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Emoji Code Breaking
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